[FE2lEx W EFmEHEFERESREY -7 - b—F X2 }]
<LZF> XM
HiZ : 5H14H (H) =% KEASEE : Ad-b Bi%5 : 8EF30%
iS5 (%) (=) =¥ TO
1 9:40| & |[(#mRFs-uxX[ 51| VS| 35 Rl |2VEE| =BERE &S
2 10:45| % =R 54 | VS | 70 |avzzaur|zass-ux|  {RE] | SLVEFRT
3 | 11:50| % B | 34| VS| 32| F&& == B RV S U yd B30 B g
4 | 12:55 Z [2vrexrdur| 69 | VS | 28 |aLeEE| (HE] | TRE | =R
5 | 14:00| % &4 | 38| VS | 43 |mrEhi-ax|anexzaur|su0eEst| R
6 15:05| Zz |&ufeFEit| 40| VS | 69 (=Y5 &S |[BREi-AX|aVeEIV7
<BF> -hK
HiZ : 5H14H (H) =% KBEASEE  BO-bh Bi5 : SEF309
BF i (%) (=) = TO
1 9:40| 5B =R 40 | VS | 60 | Bflm |tEBE>1=7| F&S T&
2 10:45| 5B EE |49 | VS | 34 | BEE= =R SR | tEYaz7
3 11:50| 2 EAlE | 59| VS| 54 =y &S | BEs (=Y
4 12:55( BB #EE [ 30| VS | 50 | EE>1=7| AEHE = T
5 | 14:00| BB & | 50| VS| 46 =R ZEE |tEziz7| HHE
6 15:05| B |tE2>1Z7| 36| VS |43 | F&& & =R BT
<BF>-- ki
HiZ : 55208 =15 | aWSULAREEE B35 : 8BF309
S (R) (=) =¥ TO
1 | 10:00| 5 T= 38| vS | 33 B E WE | KEHI
2 | 11:30| 8 | EKfAwy| 36| VS| 28| EEHL OE OE T=
3 | 13:00| 5 |5¥it| 51| VS | 47 S8 OE KE | EARAWY
4 14:30] B | K=d)Il| 70| VS | 36 |K#IEIN—-| RIE ME | 58t
<LZF>-- ki
HiZ : 5H14H (H) =% | RARENERABEE : Bi5 : 8EF30%
BF i (%) (=) =1 TO
1 9:40| & K=BS [ 58| VS | 36 =i ARl | KRARE[KX=SH)I
2 10:45| & | RAKRE| 71| VS| 14 N K=BS = ANIEF
3 | 11:50| % =i 18| VS | 77 | XKBHIII | KARE| K | XK=EBS
4 | 12:55| & X |46 | VS |[56]| KIF = | KEH)I | RKAHERE
5 14:00| & | K=9)Il| 43| VS| 41| K=EBS AR N =
6 15:05| & N 30| VS | 60 | RARE [ KEH)I|| X=BS A




